
tfqefk=glfpqp=o^af^kq=fkpq^ii^qflkf¬±²~ªª~²§­¬

p³®®ª£«£¬²=OSM
glfpqp
t¦£¬=²³ §¬¥=§±=§¬±²~ªª£¢= £²µ££¬=²¦£=¤ª­­°=¨­§±²±I=§²=§±
°£¤£°°£¢=²­=~±=²¦£=±²~®ª£J³®=±·±²£«K=f¬=­°¢£°=²­=¦~´£=~¬
£¤¤£¡²§´£=±²~®ª£J³®=§¬±²~ªª~²§­¬I=Q=¡°§²§¡~ª=±²£®±=«³±²= £
²~©£¬K

NKf¬±²~ªª~²§­¬=­¤=m£¶=²³ §¬¥= £²µ££¬=²¦£=¤ª­­°=¨­§±²±K

OKf¬±²~ªª~²§­¬=­¤=~ª³«§¬³«=¦£~²=£«§±±§­¬=¤§¬±K

PKf¬±²~ªª~²§­¬=­¤=~ª³«§¬³«=°£¤ª£¡²§´£= ~°°§£°K

QKf¬±²~ªª~²§­¬=­¤=§¬±³ª~²§­¬
j~¬·=¡­«®~¬§£±=µ§ªª=²£ªª=·­³=²¦~²=±­«£=­¤=²¦£±£=±²£®±=~°£
¬­²=¬£¡£±±~°·I=§¬=®~°²§¡³ª~°I=²¦£=§¬±²~ªª~²§­¬=­¤=²¦£=~ª³«§J
¬³«=¦£~²=£«§±±§­¬=¤§¬±K=q¦£=±·±²£««~·®°­´§¢£=·­³=µ§²¦
£¬­³¥¦=¦£~²= ³²=µ£=¤££ª=²¦~²=§¤=~¬·=­¤=²¦£±£=§«®­°²~¬²
¢£²~§ª±=~°£=ª£¤²=­³²I=·­³=µ§ªª=¦~´£=~=±·±²£«=²¦~²=§±=§¬£¤¤§J
¡§£¬²I=¡­±²ª·=²­=­®£°~²£I=~¬¢=µ§ªª=³¬¢£°®£°¤­°«=§¬=²£°«±=­¤
²­²~ª=¦£~²=­³²®³²K
q­=ª£~°¬=«­°£=~ ­³²=²¦£= £¬£¤§²±=­¤=²¦£=~ª³«§¬³«=¤§¬±I
®ª£~±£=´§±§²¦²²®WLLµµµK°~¢§~¬²£¡K¡­«L®°§¡§¬¥L
¦£~²|²°~¬±¤£°|®ª~²£±K®¦® ^ª³«§¬³«=¦£~²=£«§±±§­¬=¤§¬

o£¤ª£¡²§´£= ~°°§£°=EN=NLOJO
 £ª­µ=²³ §¬¥=~¬¢=®ª~²£

c§ £°¥ª~±±=§¬±³ª~­¬I

abcfkfqflkp
NKw­¬£W=^=¸­¬£=§±=~¬=~°£~=¡­¬²°­ªª£¢= ·=~=±§¬¥ª£=²¦£°«­±²~²K=^=¸­¬£=¡~¬= £=~=PM=±¤= ~²¦°­­«=­°=~=OMMM=±¤
±¦­®K=k­²=²­= £=¡­¬¤³±£¢=µ§²¦=¡§°¡³§²K

OK̀ §°¡³§²W=^=ª£¬¥²¦=­¤=²³ §¬¥=µ§²¦§¬=~=¸­¬£K=^=¸­¬£I=³¬ª£±±=§² ±=°£~ªª·=±«~ªªI=µ§ªª=²·®§¡~ªª·= £=«~¢£=³®=­¤=~¬·
¬³« £°=­¤=¡§°¡³§²±=²¦~²=µ§ªª=¡­¬¬£¡²=²­=~=²³ §¬¥=«~¬§¤­ª¢K=j³ª²§®ª£I=±¦­°²=¡§°¡³§²±=­¤=²³ §¬¥=~°£=°£¯³§°£¢=¤­°
±·±²£«=£¤¤§¡§£¬¡·=~¬¢=£´£¬=¦£~²§¬¥K=f¤=­¬£=ª­¬¥=¡§°¡³§²=­¤=²³ §¬¥=§±=§¬±²~ªª£¢I=²¦£=µ~²£°=µ§ªª=¡­­ª=­¤¤=²­­
«³¡¦= ·=²¦£=²§«£=§²=°£~¡¦£±=²¦£=£¬¢=ª£~´§¬¥=­¬£=®~°²=­¤=²¦£=°­­«=µ~°«=~¬¢=~¬­²¦£°=¡­­ªK=mª³±I=²¦£=µ~²£°
¦£~²£°=µ§ªª=¦~´£=²­=µ­°©=£¶²°~=¦~°¢=²­=¦£~²=²¦£=µ~²£°= ~¡©=³®K

PKq³ §¬¥=«~¬§¤­ª¢W=^=¡­®®£°=~®®~°~²³±=µ§²¦=«³ª²§®ª£=²££±=²¦~²=~ªª­µ±=«³ª²§®ª£=¡§°¡³§²±=­¤=²³ §¬¥=²­= £=¤£¢
µ§²¦=­¬£=±³®®ª·=~¬¢=­¬£=°£²³°¬=ª§¬£K==q·®§¡~ªª·=²¦£°£=µ§ªª= £=­¬£=²³ §¬¥=«~¬§¤­ª¢=®£°=¦£~²§¬¥=¸­¬£K

N


